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SCHOLARS ACADEMY

1.

a)

<)

a)
c)

c)

General Intelligence and
Reasoning

Which of the following diagrams indicates the best
relation betweensnake, monkey mammals?

g R § @ @Y @1 R 9iu, dev ok W=t § 9y
ey gidr 82

Oo
9 .

ﬁ&waﬁﬁmﬁﬁuﬁ%?

How many triangles are there in the given square?

11 by 7
8 d) 6
In the question one statement is given, followed by

two arguments, | and Il. You have to consider the
statement to be true even if it seems to be at
variance from commonly known facts. You have to
decide which of the given arguments, if any, is a
strong argument.

Statement : Should the village authorities build a
water tank in their village?

Argument | : Yes, a tank is essential as it will provide
water for dry summer months.

Argument Il : No, the sharing of tank water will
lead to disharmony amongst the villagers.

Uy # TP HyA fear T § P emi gl adb | & few
T g1 3MUs! AFAT ¢ 5 oY I ¢ 91 98
I §19 a3 ydia giar g1 smuwt fAof
BT 2 P 3 T qT § A SE/H-Q a6 Aeigd
&, afe 13 g

HYF: T 719 P ARBING B I Md A UFT Bt
@1 o1 fAmtor s e

T 1 : BT, UF B TP TS ¢ e gg wifay &
uT e B |

qB 1l : FEY, TP B U P dean B ABR Mgaral A
BT W g qPhaT 3 |

If only argument Il is b) If only argument | is
strong Had db || strong e Haa do |
ored B A © |

If neither | nor Il is strong d) If both | and Il are strong
A qhl R T TH 11 TR 13RS ASE |
EECRE]

4.

a)

c)

a)

c)

In the question a statement is given, followed by
twoconclusion, | and Il. You have to consider the
statement to be true even if it seems to be at
variance from commonly known facts. You have to
decide which of the given conclusions, if any,
follows from the given statement.

Statement : A bullet train connecting Shanghai with
Paris will cut the time of transporting a goods
container between the two cities by 50%

Conclusion 1 : Saving time is a value add in logistics
industry
Conclusion 1l :
will increase

Uy § Ue oyd fear mar § e omt @ fAeed
froera T g1 MU AT & P YT g @ 9e 98
I Jd dcal § e udia gar 811 3mue! ot
AT ¢ @1 AT 7T fAewuf d @ SH-A/6H-9 Ffda
g;%¢u=rmw€rﬁmmmm%/m%,tﬁ
|

FY: TUrS B INT | WA arell gae 7 A 41
el & g aegeit F uRaga & @F atq qug o
50% P! Paldl gHit I

frepd | : ST gom WHY YR argd S & faw

TEIaT g

s 11: STeTS SR AR & ot sTuR W

Only I follows./&ad |l b) Neither | nor Il follows.
gl 3R 11 1S i TR T B

Both | and Il follow/ | 31X d) Only | follow./ %dd | Tg

I G TR B 2

In the figure given below, square represents people
who are singers, triangle represents

acters and circle represents directors, which set of
letters represents people who are both singers and
directors?

2 R v o & o e @) qufar &, A
PATPR] B T & 3R 7a Szl &1 g=ifar sar
7 | 3M&RT BT PIFT AT TYE 3T AN BT gRMtar § &
TS R AP i g ?

Trade between Shanghal and Paris

C and D/C 3R D b) B, Cand D/B,C 3R D

A B, C, D, Gand FA/ A d) BandC/B3iRC
B,C,D,G3MRF

Identify the picture that completes the gattern.

3 fir &) wgar ot At o) qof wwar
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SCHOLARS ACADEMY

a)

c)

7.

a)

©)

. w———g — W —

A piece of paper is folded and punched as shown
below in the question figures.From the given
answer figures. indicate how it will appear when
opened.

4 gy snpfadl A TN AR FNS B AeHR
e agﬁ e & 91 98 P9 IR pfa S

.’ o i o
000O0 0000
0 000 O 0P Q
[e)e} O35 (o]
© 000 © 9,008
0000 00
b)
00 0900
B %, § yoo%
o o o
lo) a O o0 0O
S d %00
00 d)

In a code language 539 means 'sky is blkue’', a 927
means 'rose is red’, 175 means 'blue and red'. Select
the code for 'and’

HIs UTHT H 539 BT 3 B 'sky is blkue’, 927 BT 3 &
'rose is red’, 175 BT Gf?f% 'blue and red’, dl 'and’ &7
PIs TG ?

5 b) 1

7 d 9

Frafafaa § 75 Sw snofoal § & i @ vy snpfa
B R B

Which of the following answer figures will complete
the figure?

a)

c)

10.

a)

c)

11.

a)

©)

12.

a)

c)

13.

a)
c)

14.

a)

c)

15.

a)

c)

N Y
vl W

If '+ is'x", "-"is" + ', 'x"is " + "and "+ is '- ' then
answer the following question based on this
information. The

AR+, B, B B AU B
A PRl ¢ ) 39 AFPRI & YR W 37 UY T

ISl 13.5x 1.5 - 0.008+ 125 =?
145 b) 1
10 d) 25

If 96 * 53 = 7,57 * 26 = 4 then 91 * 35 =?
afg 96*53 =7,57*26 =4 91*35=?
3 b) 5

1 d) 2

Which of the following words follow the trend of
the given word list?

faw Tr el & @ B9 W g A Teat F G A

Al @ @2

Oasis, Noise, Drone, Allot, .
Audio b) Omen
Roots d) Oxford

if MATERIAL is coded as JXQBOFXI, how is JOY
coded in that code?

Ife MATERIAL FT H1S JXQBOFXI § ol 9 TSR JOY
BT IS T FM?

MBT b) GLV

LDU d) BTK

In the given series one word/one term/one number
is missing. Select the correct alternative from the
given ones that will complete the series.

e Iged foar ma &, R e e/ wee
e gu 21 3T U fawenl # & 98 Wl fawew gihg

St S eH B T B

101, 103, 107, 109, 113

121 b) 123
127 d) 119

In the given series one word/one term/ one number
is missing. Select the the alternative from the given
ones to complete the series.

T A four T 8, Rt W / Ue/us e
guw 31 fRE v fiweul & & w7 e fawew g «it

3 HH B R B

1J,L,0.2

S b) R
Q dy P
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16.

a)
c)

17.

a)
<)

18.

a)
c)

19.

a)

20.

c)

Select the related word/letters/number from the
given alternatives.

Bears : Growl :: Cocks : ?

faa feweul 9 & HafRra wreg/e1aR)/ den #1- gw)
HI : {'Rf"-IT S 'ﬂ"Tf :?
Caw/®id-BHid
Croak/e¥-c%

b) Coo/d%d
d) Crow/PPg L

Select the related word/letters/number from the
given alternatives.

&R faweul & & dafRia wsg/31eRY/ S=n &1 gf)
HK : LO: TW:?

DG b) XA
YB d) NK
Select the odd word/letters/number/word pair

number pair frprp the given aIterna_tivgs.
fod g fawedt & @ faww <eq/sierl/Ae / W T
@& g &1 gl

Centigrade/IeRIg b) Calorie/FaRt
Fahrenheit/BRgI5c d) Delvin/&fed
Tfe RUN = 182114 TG BIN 2914 &, BRING =

If RUN = 182114 and BIN 2914, then BRING =?

2189147 b) 1178136
31910158 d) 21910158
In the question a statement is given, followed by to

arguments, | and Il

You have to consider the statement to be true even
if it seems to be at variance from commonly known
facts. You have decide which of the given
arguments, if any, is a strong argument.

Statement : Should prison term of those criminals
who have shown good behaviour be reduced?
Argument | : No, if they are freed they will again
commit crimes..

Argument Il : Yes, this will incentivise others to
show good behaviour.

THUY H U YA fRaT T g R s @ adb 1 & 11
faw e {1 sy AT @ P BUE 9w ® 9 98
T F1d aat A fis wdta giar g1 smuet fAvig
1 2 b 3 T qoT § A SE/H- a6 Aeigd
2, Ak PS8

FYF : T 3BT HAER fG@M Tl R Y Siet
TSI HH Pt AT W2

%I : g, afe 3% gaa fovan e ot @ g SrRIY

|
m:ﬁﬁmﬁa@w%mm
|

if only argument | is b) if neither argument | nor
strong g Had do | Il is strong. /afe a1 @ ab
EECCR | R T & b 11 T ©
if both argument | and Il d) If only argument Il is
are strong. g ! a | strong gfg Faa d@ |l
3R 1 T § I §

21.

a)

c)

22.

a)

23.

a)

c)

24.

In the question two statements aregiven , following
by two condusions, | and Il. You have to consider
the statements to be true even if it seems to be at
variance from commonly known facts. You have to
decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 : All babies are toys.

Statement 2 : All children are toys.

Conclusion I: Some Children are babies.

Conclusion II: No Child is a baby.

Uy # gl BYF 3 T § e ot g s |1 & 11
e T ¥ eyt A R P EF) Py I g 9
9 9HIG: §id 9 d g udia @ 81 smu)
forofa wer @ 6 fRw v el & @ S9-T/@H-9
fafia v @ $y= grR1 Ig e &1 ol 2/9ed
g g S 7

Ty 1: I} Ry A= 1

HYF 2 : gt 7= AR g1

forepd | . 7o I= R

freed 11 : B T=r Ry 78§

Only conclusion I b) Only conclusion
follows/bad Fsby | Gg1  follows/bad sy 1
SEE

Either Inor Il follows: /4T d) Neither | nor Il follows/ T
dfd T ead @ Py w R
frene |19 R foreepef 11 W R -

gfg 1980 ® UGy fgaw Af@R &1 41, o 39 ad
oA feau fea e ur?

If the Republic Day was on Saturday in 1980, when
was the Independence Day in that year?

AR Monday b) HITAAR Tuesday
JEWIdIR Thursday d) THAR Friday

TS 9-%U d U 45 e R @ 99 Tadt ¢
3t 9% PTITY W UGl ¢ 3R SN UaT I« f5 99 10
fire 8 A st <fer I9eT WIS, S 39 Y W
arar Tl 3t g 3 U ot ok sHfie 98 e
3TA S | SR SR 31+i2 : 30 91 TET § Y ST
HTS forat oot 3= gRIm?

A bus stops every 45 minutes from a bus-stop. He
has just reached the counter and finds that the bus
will leave 10 minutes late. Since his brother, who
was going to accompany him. Was not able to come
yet and so he would go by the next bus. If it is 2:30
now, what time will his brother leave?

3:25 b) 2:40
3:30 d) Eqﬁ T Tﬁ'sc :lffNone of
these

8:50 g9 ¥ 20 fFe UgA Y5 WA W UFAA §U
=T Y g8 WIGH g3 7 a8 40 e W o ard
fed A @ e ugd o T {1 U8 9a1sd F S
o1 Fuifea wwa wam ar

Arriving at the meeting place 20 minutes before
8:50 am, Satish came to know that he had arrived
thirty minutes before the person who was 40
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SCHOLARS ACADEMY

a)
c)

25.

a)
c)

26.

a)
c)

217.

c)

28.

a)
c)

29.

minutes late. Explain what was the scheduled time
of the meeting.

8:20 b) 8:10
8:05 d) 8:00

TG MISPLACE ® fhaq ¥ ofeR g 3, oFs &g
I & efeR ? o sl aufarean A8 2 2

How many such pairs of letters are there in the
word MISPLACE, which have as many letters
between them in the English alphabet?

R[> Zero b) qH Three
@ ¥ 3 More than d) @l Two

three

TS 3Nd Pt dRE FRT B §¢ U ATl 3 FeT,
g WY firar 3t 9 B 3¢ FI A 31" I8 IS IW
3R ¥ e e awafRa § -

Pointing to a woman, a man said, "She is the
mother of my father's daughter's daughter.” How is
the man related to that woman -

T4 Son by fOdT Father
4TS Brother d) GIal Grandfather

0 30 HY. SFE0T Terar 81 g gS v 25 Hiex gadn gl
U: 98 gSa] 10 Hiex Jadr g1 3id § a1 gHe
TA- AT 2| <) 39 ITPT g frd femm # 8 2

Ramu walks 30m south. Then he turns right and
walks 25 meters. Turns left and walks 10 meters.
Finally, he turns left and starts walking. So in which
direction is he going now?

Gf&0T South b) U9 East
Tf3y West d) 3 North
ﬁi’ﬂ:u’ﬂﬁﬁ?(: )%Wsﬁ?aﬁmﬁﬁﬂﬁ?

TSN SR P U I H Uy - R I1Uy - "= &
M W Y {3 T 9R fawel d 3 U e T g4,
foraed gl 3R aTet Wt @ I8 Haly &Y, o Il 3R
qTd G Wedl & A B

Tefifae : Sefipe - et 2

Direction: In the question, two words are given on
the right side of the symbol (: :) and on the right
side there is a word and a question mark. In the
place of question mark, choose one word from the
four options given below, which has the same
relation to the word to the right and the word to
the left should be between the two words.
Television: Telecast:: Radio:?

TR Broadcast b) YHRR News
Tt Music d) HIc®d Drama

% : R A T uy A snopfa +1 IfwA oy -
yfafora 9@ e A T R fawel & & 941 Fie
MN & guur 3t fRfa ot g=ifar mar g1)

Directions: In the following questions, select the
appropriate mirror image of the shape - the image
from the four options given for it. (Note MN shows
the position of the mirror.)

y M
/
/
4
/
,
Y
N
a) b) L. ;
c) d)

30. Fdw : 39S SiaTd o empfaal/fE A g4 B,
T e wfafara g1a w1 gian §1 59 g uy -
3TPpfa & A IR IW - RAvew R g9 8, R A
g W - e AT g 81
Instructions: Under this, some shapes / pictures are
given, whose water image has to be found. For this,
there are four answers - options given below the
question figure, out of which the correct answer -
option has to be chosen.

a) EL b)
Mathematics

31. During Akbar's reign the Mahabharat was
translated into Persian and is known as
PR & AAPIT & SR TEIHRA &1 BRA &
3rgare far 7T 4T 3R 39 39 U A ST w11 @

a) Igbal Nama §PEITAM™HT  b) Razmnama ISHATHI
c) Akbar Nama 3haR AMHI  d) Sakinat-ul-Auliya gfd1d
-3d-

32. The Home Rule League was started by

B & ol forads gRT = forar T o
a) MK GandhiTH® i b) B.G. Tilak s.5i faa®
¢) Ranade IFTS d) KT.Telang o.€1 dal
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33.

a)
c)

34.

a)

c)

35.

a)
c)

36.

a)
c)

37.

a)

c)

38.

39.

a)
c)

40.

Raja Ravi Verma of Kerala was a distinguished

v & e 7R auf o ufa 0}
dancer Td® b) painterﬁﬁ?ﬁ
poet?lb"% d) singer TS

Giddha'
stateof :

%?rzr'qmmww%agmm%wuwgan

is a form of dance associated with the

Punjab TSTTel b) Himachal Pradesh feamaa
EERY

Haryana giaron d) Rajasthan TSIRITT

Who is the guardian of Fundamental Rights

enumerated in IndianConstitution ?

YR wfae & Mt SfieR) & Tes $1H 82
Supreme Court 3=dH b) Parliament ¥dq
BRI

Constitution Ffde™ d) President IFUfd
Which part of the Indian Constitution deals with

‘Fundamental Rights'?

YR AU BT SIF-IT URT * Hiferd fUerR) * 4

Part | YT | b) Part Il HIT1I
Part IIl HIT 111 d) Part IV HIT IV

The Constitution of Indialays down that the two
Houses of Parliament must be summoned at least?
YR &1 G sgar @ & due & =1 Fe=! B
U F FH fPa-l IR I VST ST F1RT?

four times a year U ¥ b) thrice a year 9@ H o
T IR IR CIR

twice a year?ﬂﬁff?ffa'l? d) oncea yearﬂ'lﬁﬁ@aﬁ

Which body is constituted by the President of India
to advise on the decision of Central Resources
between the centre and thestate ?

¥z AR 359 & dHa g Tt F Aok ) ga
1 & fo HRa & wgufa gR1 5w e a1 16T
o wrar 82

Tariff Commission Y[eh b) Finance Commission faa
TN STANT

Planning

TISHT TART

Commission d) Taxation Enquiry
Commission HRIYM SIrd
S{TANT

Which Article of the Indian Constitution directs the
State Governments to organise VillagePanchayats ?

YRAH AU FT B AT TG I BRI B
mwﬂﬁmﬁamﬁ%ﬁuﬁ%&amﬁv
Article 32 GF;’%_C{ 32 b) Article 37 &F-\[%?{ 37
Article 40 315G 40 d) Article 51 3J&G 51

Day and Night are equal at the:
T SR I PTG B :

a)

c)

41.

a)

c)

42.

a)

c)

43.

c)

45.

a)

46.

a)

c)

47.

a)

Prime  Meridian

TG T
Poles §d

Y b) Antarctic 3fcThied

d) Equator YHET AT

The core of the earth is also known as

gt & BR $I 5w 9 A JET AT
Lithosphere RicHS A b) Mesosphere HEHHUSH

Barysphere TR=HUS d) Centrosphere dR®

Alluvial soils are rich soil for crop cultivation but are
poor in

a@zﬁé’rwa&@?ﬁ%mwﬁ@% afe
T P @

humus &R0 b) nitrogen and  humus

TESSTT 3R LROT
organic material CaCiREa d) inorganic material
geref N EACIECD

Which of the following exhibits unidirectional flow
in an ecosystem?

fFufafea § 4 o9 e uRfRufoet 3 & =
vaTg UGRid Hedr 82

Light =TT b) Energy 3ol

Water TT1 d) Biomass CIRIEIE

The two richest Eco-zones of India are

YRd & &) ged 3R wfrg §

The Himalayas  and b) The Himalayas  and

Vindhyas ferer iR fdeg Eastern Ghats f@HTeR iR
gdf are

The Himalayas  and d) The Himalayas  and

Western Ghats  fgamerd Aravallis  fearem @R

3R e wre

7Y & WA F R, et a1 Fafafea duert
& Rrgial &1 TR $1 & frg smaifera fvar mar ur 2
During the reign of Harsha, Kannauj Sabha was

organized to propagate the principles of the
following sects?

BAM Hinayana
TR Swetambar

b) HEHRIT Mahayana
d) P faPed FE T & No

option is right

In a business, raw materials, components, work in
progress and finished goods are jointly regarded as
T% IqUN ¥, Fa A9, YeHl, Wi § S 3R TR
ATE WYF =4 I T 7T 8

Capital stock WR Q\Gﬂ b) Inventory W—iftﬁ
Investment fFa=T d) Net worth ®cf Hcd

A tax is said to be regressive when its burden falls

TS R B! G S8 14T § 979 ST argt FRan @
less heavily on the poor b) more heavily on the poor
than on the rich 3{HRI &t than on the rich

T H RIS IR 9gd 9 qaT ¥ TRi§ W Te

Mob. - 01141676717,9312712114
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48.

a)
c)

49.

a)

c)

50.

a)

c)

51.

a)

52.

a)
c)

53.

a)

54.

a)
c)

55.

Hit

equally on the poor as on d) None of these TTH J P15
the rich TRIaT TR+ I
g, foram okl iR

The best conductor of heat among the following is

A ST T Jad 33T TP 8
b) Mercury URT
d) Water OT

Alcohol TRTd
Ether Et?R

Impure camphor is purified by

Y5 YR forads gRT Y o wiran 8
Sublimation ~ 3&fUldd b) Fractional
() 3fifrs
Fractional
YIS ST Ha

crystallization

distillation d) Steam distillation HIU
K INCE

The greenhouse effect is caused by

HeTeH UHTa f5 e & RO Ear 8

Nitrogen TggIo b) Carbon dioxide
EEEICRIES]

Carbon monoxide ®Ta d) N|trogen dioxide ?I%@TXFT

BICIEICIES) SIEEICRIES]

fay g feaw ufoad fra e ammr sIran 8 2
World Unani Day is celebrated on which day every
year?

9 a1 9 February
11 BRaRT 11 February

8141 81 H 1GBC gRT fbd Yord W &t W Yo
%%m THIVE" $T Wi I & s fear war
?
Which railway station has recently been awarded
the platinum rating of “Green Railway Station
Certification” by IGBC?
b) @T Indore

\_rﬁﬂ'ERJodhpur
3gHGEIG Ahmedabad d) fa=TRETITH
Visakhapatnam

B4 81  YRd ot Ugdl Safded il STd SHY a9
1 IguTe [5a 2eR | fFar man g2

In which city has India's first electric AC double
decker bus been inaugurated recently?

-_-iQS Noida b) H—Gl'scMumbai
W Bangalore d) Id Surat

QS Rankings 31 €10 50 Soiif=rafeT 3'%?5@'\‘[ 3 g
# fore ERIT 7 31U+ S1TE ST @2

Which institute has made its place in the list of top
50 engineering institutes of QS Rankings?

b) IIT Delhi

d) IIT Guwahati

PIa

b) 10 TRaR! 10 February
d) 12 AR 12 February

IIT Bombay
IIT Kanpur

feurene 3 P Hfw st aifber & Fu o
g fra @2

a)

c)

56.

a)

c)

57.

a)

c)

58.

a)

59.

a)

c)

60.

a)

c)

61.

a)

c)

62.

Who has been appointed as the Chief Operating
Officer by IndiaCast?

Uiy T4 Piyush Goyal
35T W31 Ajay Sethi

b) Hfed W& Mudit Sehgal
d) fad® SR Vivek

Agnihotri

Who is known as the 'Grand Old Man of India'?
U 3Nes AT TP SfEar & 74 A fHA &1 w1 22
Dadabhai Naoroji GIGTHTS b) Gopal Krishna Gokhale

YT FHT TR
Bal Gangadhar Tilak §I¢T d) Surendranath  Banerjee
TR fade ST IS

A semi-circular structure with a dome shape roof
erected over the sacred relics of Buddha is known as

g5 & Ufad AW W TH ag & PR ot B &
1Y U 3ef-uRus W1, & =9 § 11 Arar @
Stupas ¥U b) Edicts Rramerat

Pillars ©Y d) Monoliths ThIRAD

The success of democracy depends upon the

Apaa & Apaar (AR Fdt @

Right to criticise 3T@IGT b) Right to association ST
B BT ADR BT 3TBR

Right to personal liberty d) Right to property Tufar
i I Eal Eal
ffIpR

Which of the following states have longest coastline
in India?

;ﬁ;ﬁ%’% # ¥ fou g § YR o 999 e ad
Andhr; Pradesh 3 USRI b) Maharashtra AERTY

Tamil Nadu dfiierrg d) Gujarat ToRTd

In which year did the first amendment of Indian
Constitution take place?

HRAT AT P71 ugan g fod ad & gom U
1951 b) 1950

1948 d) 1949

General Awareness

A concave lens always forms an image which is

TS 3aad A AN TP Bfd 99171 8 ot @

real and erect ARAAH b) virtual and erect STHT
R et R et

real and inverted ARAAH d) virtual and
3R I STUTER 3R JaeT

inverted

Which one among the following is not a Green
House gas?

# § S W 89 A9 81 872
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a)

c)

63.

a)
c)

64.

a)
c)

65.

a)
c)

66.

a)

c)

67.

a)

69.

a)

Oxygen it b) Carbon dioxide ®Ia
SIESIENIES]
Carbon Monoxide ®Te d) Chloro fluoro

aeRTss FAR! TR BT

carbons

In vulcanisation process, rubber can be hardened by
adding

FeP-IPRUl UhaT H, I6R B T FISHT AR (bl
ST qHAT §

Nitrogen :l'lé_@\_rl:[ b) Silicon fferT
Sulphur TH® d) Alcohol RRTd
7T 81 § A5 feeet! § TR $f3am 2023 & forg Gowsy

F Maus T P sregeqdr fea o
Who chaired the Ambassadors’ Round Table
Conference for Aero India 2023 in New Delhi

recently?
% TIET Narendra Modi b)Y R Rajnath Singh
S{fHd =TE Amit Shah d) YRS T Piyush Goyal

BT &1 A 7T 33U Ve STaWR T BT e
fa e ¥ fear man 82

In which city has the first India Stack Developer
Conference been organized recently?

Mumbai'EI’a'sc b) New Delhi 75 faeett
Varanasi GRTURIT d) Patna UcHTl

PIA DI Ul TIGISY IPIA & U H Ie9 Bt IR
FIIRA § B AHifhd g3 82

Who has been enrolled in the Bar Council of the
state as the first transgender lawyer of Kerala?

fqen H19d Vidya Kamble  b) U3 @&t Padma Lakshmi

wWifd UM Svf Swati d) SR TEd Joyita
Bidhan Baruah Mandal

T 8 § By Swive-anH! g ifd REPR
9 fod Wi e wa 32

Who has recently been awarded the
Houphouet-Boigny UNESCO Peace Prize?
:ﬁTs{ Iﬁfﬁ Narendra b) Qﬁ?ﬂﬂ%Angela Merkel

Modi
S dI3S Joe Biden

Felix

d) TG T Sheikh Hasina
IS T BT SRTPIT feaw A wIrern 82

When is the International Day of the Unborn Child
observed?

22 HTE 22nd March
24 FTE 24th March

b) 23 9 23rd March
d) 25 AR 25th March

T 8 ¥ YR & 59 uskit 3= A wwm) wfea
faaRa $37 & i w9 & A1y AgeN i 82
Which neighboring country of India has recently
partnered with Russia to develop nuclear power?

UTd Nepal b) TSI Sri Lanka
CESICE Bangladesh d) ®IMHR Myanmar

70.

a)

c)

71.
a)

c)

72.

a)

c)

73.
a)

c)

74.
a)

c)

75.

a)

c)

76.

a)

c)

77.

a)

c)

fea nftm & iR uiRfaa se=E iR wi-
TSG! UTeTH P ABY 2023 TIS YREPR &7 741 32
Who has been awarded the 2023 Abel Prize in
Mathematics for his work on nonlinear partial
equations and free-boundary problems?

FHHRE Louis

SR gferad Dennis b) gsd
Sullivan Caffarelli
Tt faTexT T Avi d) B IEaa Karen
Wigderson Uhlenbeck

693 = 693 x 693 — 383 x 383 % 383_,?

693 x 693 + 693 x 383 + 383 x 383 °

310 b) 320
325 d) 321

AT B 9 TS HHM: 64 Y., 80 J TUT 96 A,
T 7, T8 A Pis ot T3 TN F¥b 9 I FH B9
TS BT HUST YUl T T AATUT o TPl & ?

Three sticks measuring 64 cm respectively. , 80 cm
and 96 cm. It is long, using any of these rods, at
least what length of cloth can be measured in
absolute numbers?

0.96 Hlex/meter b) 9.60 HIeX/meter
19.20 HIeX/meter d) 96 Hiex/meter
[(35)% + 70 x 12] + 25 = 58.8x?
6 b) 8
14 d) Ezlﬁﬁﬁ'sg:lﬁNone of
these
3 2 1
25 £ 22 £ 1 =7
4 3 12
13/16 b) 1/4
25/144 d) 99/104

gﬁsm o1 202, a /000000841y

If the square root of 841 is 29, then Vv 0.00000841 s

equal to -
0.029 b) 0.00029
0.0029 d) 0.29

IfE V256 + Vx = 2 9 X 8 -

If V256 + Vx = 2, then X will be -
58 b) 64
78 d) 138

Tfe TS rIep e o IS HT 3T 93 §, Y 390
JeaH =T AT gRi?

If the average of eight sequential even numbers is
93, what will be the largest number among them?

100 b) 86
102 d) 98
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78.

a)
c)

79.

a)
c)

80.

a)
c)

81.

a)
c)

82.

a)
c)

83.

a)

c)

84.

a)

et 9= & 60 % T 40 SIS W IWAT T 80% Wl
AT TG I H1] 2

Adding 40 to 60% of a number gives 80% of the
number.

200 b) 152

100 d) 300

TP &I & 9 -DYUTS BT 2/5 Tl 204 B, O W@
T |

If 2/5 of three-fourths of a number is 204, what is
the number?

652 b) 780

680 d) 880

e fd auT 39! Tt @1 3ia 3mg 34 9 B, 4 af
qIg SID! AR BT AU HHARM:14 : 5 T - TH Ft
gouT 3 fpa-t 82

The average age of a man and his daughter is 34
years, after 4 years the ratio of their ages will be 14:
5 respectively - what is the present age of the
daughter?
12 EI'BT/Years

16 El'BT/Years

b) 18?ﬂf/Years
d) 39 ¥ ®I5 TeINone of

these

TR qUT TG P 3R BT YT HUMS : 158 - 9
Ty q1g 3P! MY HT SJUTd HHR: 11 : 18 NI - 34
Q1 B 3y # fbar 3R &2

The ratio of the age of Sameer and Tanuj is 8: 15 -
after 9 years the ratio of their ages will be 11: 18
respectively - what is the difference between the
ages of these two?

24 a'ﬁf/years b) 20 a'Gf/years

33 a'ﬁf/years d) 21 a'Gf/years

(23)2.8 % (23)3.6 . (23)7.2 — (23)?

13.6 b) 12.6

12.8 d) 138

et avg & e | r% P gfS Bt WA 91¢ F 9¢ §C

U | r% @1 Bl B i1 9l awg &1 sifow 9w 19.
I, 1 3RY BT e o -

The price of an item was increased by r%. Later the
increased value was reduced by r%. If the final value
of the item is Rs. Yes, the starting price was

1%./rupee 1— 72
by 100
J1— 712 10000
100 d) 10000 — 72

W9 foelt W@ & 75% H 75 SIS AC al U I ot
TE=T B | HE=AT HT 40% [T B -

When 75 is added to 75% of a number, the answer
obtained is the number. Find 40% of the number -

100 b) 80

c)

85.

a)

<)

86.

a)

c)

87.

a)

c)

88.

a)

c)

89.

c)

90.

120 d) 160

TP aEg 12% T1H W 9 715 | i STPT a1 I 10
% HH giaT 3R APt g 5.75 . Siftre ghar, @t @y
30%3‘rwn?m ?lz%gg wwzmmuuﬁa?ﬁm

An item sold at a 12% proflt. If its cost price was
10% less and the selling price was Rs. 5.75. Had it
been higher, the profit would have been 30%.
Accordingly, in order to get 20% profit on it, he
should sell it for Rs.

115 %./rupees
138 %./rupees

b) 120%./rupees
d) 215%./rupees

TP GPMER TP a%g 15 % aTY TR I9aT 81 3R I+
I 18 3ifY® # o grar , @ WY 18 % B e,
AETER , 3 T BT a6 Ged (& ) e g 2

A shopkeeper sells an item at a 15% profit. If he had
sold it for 18 more, the profit would have been 18%,
accordingly, what is the cost price (in) of that item?

540 b) 318
600 d) 350

12, 15, 48 HT1 994 TUUTH T= FT 8 2

What is the fourth proportional number of 12, 15,
48?

30 b) 40

50 d) 60

A} Baﬁ?cvrémﬂ gferfa gu 8 I« yfomr

3 4 5%;3@131}% A, 498 & o § aruet

qy:ﬁwranmamam%,a’rﬁmusumﬁA

BTG -

A, B and C joined the partnership and their shares
1 1 1

are in the ratio of 3 475 A, end of 4 months If
he withdraws half of his capital, then the total profit
is A's share of Rs 847 -

252 ¥UU/rupees b) 280 ¥YU/rupees
315 %YU/rupees d) 412 3UT/rupees

A9 aufea ArsicdY & 600 FUT, 800 FUT TUT 1000
FUY T § - afe 480 FUT HT JAIGT garm, d@t Ugad
aafet &1 faar firemm 2

Three persons invest 600 rupees, 800 rupees and
1000 rupees in a partnership - if a profit of 480
rupees is made, how much will the first person get?

90 »UU/rupees b) 100 ¥YUT/rupees
120 2UU/rupees d) 85®UU/rupees

ABCH, Tfd AD 1 BC, a1 AB? + CD? fhu® SRTeR BRI
?

In AABC, if AD 1 BC, then AB? + CD? will equal?
2BD? b) BD? + AC?

Mob. - 01141676717,9312712114
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c)

91.

a)

c)

92.

a)
c)

93.

a)
c)

94.

a)
c)

95.

2AC?

d) 370 ¥ PIs gl None of

these

ABC ® AB = BC = k, AC = V2K dl AABC HIT&?
In AABC AB = BC = k, AC = V2K so what is AABC?
Tafgag YT Isosceles b) THGIUMG  BFYS  Right

triangle angled triangle

TYS YW Equilateral d) JASIOG JAfGYS By

triangle Right angled isosceles
triangle

A can do a piece of work in 12 days and B can do it
in 18 days They work together for 2 days and then A
leaves. How long will B take to finish the remaining
work?

AR AT P I AT MR BsA 18 feAT A
FX AHdl gl 9 2 G 9% T& |1y &1 F3d § R
i3 A B 3a1 €1 A9 B 31 T HRA | B B fan
HHY TR

6 days 6 fa-1 b) 5 days 5 fad
8 days 8 fad d) 13 days 13faq
There are two pumps to fill a tank with water. First

pump can fill the empty tank in 8 hours, while the
second in 10 hours. If both the pumps are opened at
the same time and kept open for 4 hours, the part
of the tank that will be filled up is:

Ut ¥ TP 3P P WA & fore & iy &1 uger uu @reit
® PI 8 U § WX WHaT §, Tafd guvT 10 He F1 Al
I U7 U € wHg ® Wi o € SR 4 °e a% ga

@A &, @ WX O 91d 3P BT YR R &
9/10 b) 1/10
2/5 d) 1/5

TS 3ATGHY 15, 860 BT =T A AT T A, B 3R €
P 9T # 59 YPR ST ¢ [ U 2, 3 MW 4 a6 &
1 S8 RIS W1 fe | Ifg Ao sAre Y & 5%
@ A B3R ¢ F T & fFaw it it Rkl &
U § -

A man invests 15, 860 in the name of his three sons
A, B and C in such a way that they get equal amount
after 2, 3 and 4 years respectively. If the rate of
simple interest is 5% then the ratio of the amount
invested in the names of A, Band C is -

4:3:6 b) 4:6:3

6:4:3 d) 6:3:4

fAfem A 3o vl vga &9 auf & e 6% aiffew
TS B & TR SYR ot | =R I8 01 3AT Ul it
¥ faw 9% aiffe @el W SR 8 auf & a1g 13%
e e R @ agIER afg S€ WRE auf &
qI¢ $d 8,160 .16 &1 YIaH fHar g, d@ It
SYR o T 75 I fram v, i 2

Nitin borrowed some funds at the rate of 6% annual
interest for the first three years. The difference was
kept at 9% annual interest for the next five years
and 13% annual interest after 8 years. Accordingly,

a)

c)

96.

a)

c)

97.

a)

c)

98.

a)

c)

99.

a)
c)

100.

if after eleven years, he made a total of Rs 8,160. If
interest is paid, the amount borrowed will be Rs.
was ?
8000

12000

b) 10000
d) 6000

fit gaTeR Ae ® 180 m T AYUT 120 m AST
AMATHR b ¥@T g3l g1 afe Ae F yfy &1 &wd
40000 m? § , Y AgT B =T 910 3% ?

A rectangular tank 180 m long and 120 m wide is
placed in a circular ground. If the area of land in the
ground is 40000 m?, find the radius of the field?

130 "I/ meter b) 135 Hle/meter

140 HIe/meter d) 145 Hiex/meter

5inl135 + cos120
5in135 — cos120 HTHMEE -

s5tnl135 + cos120
The value of 5in135 — cos120 jg -
0 b) V2 +1
3-212 d) 3T ®1 T8 None of
these
25in20+3 cos?0 HT ga¥ A fpa- 8 2
What is the minimum value of 2sin?0+3 cos?6 ?
0 b) 3
2 d) 1

ABC & fiFT WIf&r®T¢ AD, BE 3R CF T®h I &l G
TR Pledl §, afe ABC &1 &wd 36 Al B @t LCGE
BT &% fpaar g 2

The three medians of AABC AD, BE and CF intersect
each other at G. If the area of ABC is 36 cm?, what is
the area of 2CGE ?

12 sgcm b) 6sqgcm

9sqcm d) 18sqcm

ABC, ADEF & HH=U g1 dfc AABC &T &F%d 9 I
I B 3R ADEF BT &% d 16 T I 81 3R BC =
2.1 cm 91} 81 9 EF &) TS 98T ?

MABC is identical to ADEF. If the area of AABC is 9
square cm and the area of ADEF is 16 square cm and
BC = 2.1 cm, then what is the length of EF?

5.6 cm b) 2.8 cm
3.7cm d) 14cm
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